Multiplication et Division par 0,1 (C)

Trouvez chaque produit ou quotient.

8,34 - 0,1 = 1,62 +0,1=
1,6292 - 0,1 = 565x%x0,1=
6,6206 - 0,1 = 52x%0,1=
8,777 - 0,1 = 51156 - 0,1 =
24+01= 1,278 X 0,1 =
1,88 +0,1= 8,976 ~ 0,1 =
4978 x 0,1 = 2,4201 +-0,1 =
2,378 - 0,1 = 6,941 - 0,1 =
8,0967 x 0,1 = 9+01=
4,5499 - 0,1 = 6,66 - 0,1 =
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Multiplication et Division par 0,1 (C) Solutions

Trouvez chaque produit ou quotient.

8,34+ 0,1=83,4 1,62+ 0,1 =16,2
1,6292 + 0,1 = 16,292 5,65 x 0,1 =0,565
6,6206 =~ 0,1 = 66,206 52x0,1=0,52

8,777 - 0,1 =87,77 51156 - 0,1 = 51,156
24+01=24 1,278 X 0,1 =0,1278
1,88+ 0,1 =188 8,976 =~ 0,1 =89,76
4978 x 0,1 =0,4978 2,4201 - 0,1 = 24,201
2,378 - 0,1 = 23,78 6,941 - 0,1 = 69,41
8,0967 x 0,1 =0,80967 9-+0,1=90

4,5499 + 0,1 = 45,499 6,66 - 0,1 = 66,6
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